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21. Maintaining homeostasis allows for optimal conditions for biological processes & 
reactions to occur. Allow for energy efficiency. 
 
25. Endotherms rely on both behavioural & physiological control mechanisms which 
require more energy. Since metabolism is responsible for a lot of their heat generation 
which requires a constant input of food and requires energy to break down. It also requires 
more energy to keep internal conditions set throughout changing external conditions. 
Ectotherms rely on behavioural mechanisms & the environment to maintain their internal 
temperatures and often allow more fluctuation in their temperature – both require less 
energy 
 
33. high pressure 
 
39.  

48. Water would move into the cell (osmosis) because 
there is a higher overall osmolarity inside. The cell is 
hypertonic to the environment. Since the membrane is 
not permeable to ions or any other solute there would be 
no net movement of ions or solutes. Water is the only 
substance that can move in the attempt to reach 
equilibrium. 
 
53. The body is always losing water (sweat, breathing, 
urine…) and needs to replenish it. The water helps 
maintain blood & water balance with allows for efficient 
waste filtration in the kidney and circulation ion blood. 
 
 
 
 


